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Question 1

Question Type: MultipleChoice

Identify two reasons for defining machines and assigning servers to them in WebLogic servers.

Options:

A- A machine can be the proxy to a cluster.

B- A machine definition is required to configured figure the Node Manager.

C- To reference an instance of WebLogic Server, you must know its machine and port.

D- A machine is a required organizational unit. A domain contains machines and machines contain servers.

E- WebLogic Server users server machine assignments to help it choose servers in a cluster on which to replicate session state.

F- A machine's Cluster Weight attribute may be used by load balancers to help them determine how often to send requests to servers
assigned to that machine.

Answer:

B, E



Question 2

Question Type: MultipleChoice

A WebLogic Server instance can have multiple network channels defined for it.

Each channel for the server must have a unique combination of two elements. Identify these two elements.

Options:

A- Tunneling enabled
B- Listen address

C- Listen port

D- Outbound enabled

E- Channel weight

Answer:

B,C

Question 3




Question Type: MultipleChoice

You see a script called start WebLogic.sh(.cmd in Windows) in the root folder of your domain.

What does this script do?

Options:

A- Starts a machine

B- Starts Node Manager

C- Starts a Managed server

D- Calls the startwebLogic.sh script in the domain's bin directory

E- Calls the startManagedWebLogic.sh script in the domains bin directory

Answer:

D

Question 4

Question Type: MultipleChoice




Consider a domain that includes a dynamic cluster of three servers. Your network administrator requires all servers to bind the specific
domain name mycompany.com.

Which Administration console action implements this requirement?

Options:

A- Use a $(macro)in the server templates listen address.
B- Assign each dynamic server a separate machine.
C- Create multiple server templates for the cluster.

D- Update the cluster's listen address prefix.

Answer:

A

Question 5

Question Type: MultipleChoice

The startup of a Weblogic Server instance fails with the error message:



jav
a.net.BindExcepttion:Address already in use

Which two methods help identify what is currently listening at the port and the Ip this server is configured to be bound to?

Options:

A- The pmap command lists all processes running with their associated port member.

B- The UNIX 1sof command can report information on the process that is listening at a particular IP and port.
C- netstat, which is available on Windows and Linux/UNIX, can report on the process bound to this IP and port.
D- Pstat will report detailed runtime statistics on any process currently listening at this IP and port.

E- The Linux port watching tool port info can raise an alert anytime a process attempts. succeeds, or fails to connect to a specific IP and
port. It can also be used to identify if a port is being used by a java process.

Answer:

B, C

Question 6

Question Type: MultipleChoice




Which two metrics are used to monitor and troubleshoot unicast communication in a cluster?

Options:

A- Groups

B- Master

C- Backup server
D- Session Replicas

E- Local Group Leader

Answer:

A E

Question 7

Question Type: MultipleChoice

Each domain has a directory called servers that contains subdirectories for each server in the domain. Your domain has a managed
server managed managedl.



When will the managedl directory be created?

Options:

A- When the managed1 server is defined in the Configuration WIZARD
B- When the domain is created
C- When the Administration server comes up for the first time

D- When the managedl server comes up for the first time

Answer:

D
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